


Uncrtaa cepa npeacrasnser
cobon xentoe
KpUcTannmyeckoe
BELLLECTBO C NIOTHOCTbIO
2,1 r/lcm3, nnaesuieecs rnpu
119 °C n kunawee npu 445
°C. OHa 04eHb Nnoxo
NpoBOAMUT TENSO U
anekTpuyectBo. B Boge
cepa HepacTBopuma.
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B BYJIKAHNYECKUMX
MECTHOCTAX YACTO
HABJTFOOAETCH
BbIOEJNNTEHWE N3-10OA4
3EMJTI CEPOBOOOPOLOA U
CEPHNCTOI'O N'A30B,;
30ECbH )KXE BCTPEYAETCA B
PACTBOPEHHOM BVAE B
CEPHbIX BOOAX.




| | | a CaS+C02+H20=CaCO
| 3+H2S
2H2 S+02=2H20+2S

m 2S5+302+2H20=2H2S0O
4

x Na2S04+Fe(OH)3+9H+
= FeS+2NaOH+5H20

s SO2+0=503
n SO3+H20=H2504

400 %

Sr Y Zr
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